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Math 206 Complex Calculus—Midterm 1
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Please do not write anything inside the above boxes!

PLEASE READ:

Check that there are 5 questions on your exam booklet.
Write your name on the top of every page.

Q-1) Find all solutions of the equation 2* 4+ 16 = 0 in polar coordinates and mark them on the

complex plane.
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| 2Pyly — i)
Ploj Y y"’:_ z# 0
0 z=0
i) Show that f(z) is not differentiable at z = 0.

ii) Identify the region of the complex plane in which f(z) is differentiable. Is it a domain?
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(1 —4) and b = im. Find the principal value of a’.

Q-3) Let a =

By defwiken, a®= exe [bloga) . The  pancpel
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Q-4) ind all solutions of the cquation sin z =4 hy:

1) Using the expression sin 2z = sina coslhoy - i cos e sinhy.

{
i) Using the inverse function sin 'z = —ilogliz + (1 - z2)17#].
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Q-5) Let C be the positively oriented unit circle at the origin. Evaluate
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